7 X\ @ - ;’ e o0, ')J
sl
Mansoura University First Term
Faculty of Science January, 2011
Zoology Department Date:26-1-2011
Subject: Toxicology Z310 Time: 2 Hours

Final examination in (January 2011) for 3rd-year Chem.&Zool. Students
Answer all questions

Answer the following quetions

Q1)a-What is the advantage of food processing at home? (20 mark)

b-Identify food additives, nominate two food color additive referring to their
toxic effect on kidney

c-mention 2 types of plastics
d-Clinical toxicology concerned with...... 1 1 R of poisoning (complete)
e-The dose (identify)
f-Show the sequence of intoxication progress?(demonstrate)
g-Acute and chronic toxicity (compare)

h-The most common site of renal damaged from heavy metal is...... and tubular
damage is indicated by........... (complete)
Q2) a-Classify food additives. (20 mark)

b-Illustrate 2 different types of solvent and show the precaution to be taken
while using them.

c-Nominate the therapeutic use of mercury, lithium and bismuth

d-Is the metal or its carbonyl is more toxic? give example

e-Which of metals accumulate in lung after 40 years? Why?

f-Answer as shown between brockets:

e Ingestion of large quantities of vit. A leading to a distinct yellowish of skin called
-------------- (complete)

e When the organism itself cause the problem, the illness is classed as intoxication
(correct the sentence)

e The word plastic desired from the Greek word meaning-------------- (complete)

e Aluminium salts, are converted to phosphate salts in the gastrointestinal tract and
excreted in the--------- as such

o Plastics are called parkesine, later celluloid by (Dnaventura Orfila, Alexander
Parkes, Gorge Adison) add time under the right name.

e The response dose relationship in estimating LD50 (Draw)

e Metal that accumulate in the body have --------amee- disease potential (complete)
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Q3) Illustrate (20 mark)
Additive effect

The gradations of acute oral toxicity
The relation between body surface, body volume and toxicity
The possible mechanism of renal toxicity by cadmium

Q4)1- Mention the factors affecting the action of the toxic material (20 mark)
2- Compare between

e acute and chronic toxicity
® LD50 and LC50
¢ Caution and Warning

3- What is the different change of toxic effects genetically?

4- You are given poisonous case, suggest the clinical steps that should be follow
to measure the toxicity and write the report

5- From the application studies that you provided with it , summarize one of

them referring to the role of dietary factors and its mode of action in attenuate
the toxicity

Prof. Dr Gamal Fathy Edrees
Dr. Hanaa Ali Hassan
Gl < Uil g
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Subject: Chemistry b, N Time Allowed:2 hours
Course(s):Org. Chemistry 337 Full Mark: 80 Marks

Answer All Questions
1) Predict the heterocyclic product(s) of only eight of i-x: (26 Marks)

COOMe

CH;0 HI -H,0
+ Ph—COCH; > e -
OMe

Q_

ii)
CH;CHO H' Pd-C
- T— — - ~TTTTmTmm
NH>
iii)
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vii)
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iX)
CH, COOEt
C[ Cooet, . Easaa wo
NO, EtO™
X)
CHs
KMnO, -H,O
— e e e e
SO,NH,

2-A) Give acceptable name of each of these heterocycles : (8 Marks)

(H3C)oHC N S S
FO,L: O O (o

B) Diagram the following: (9 Marks)
1) Formation of penta-1,3-diene from pyridine
i1) Conversion of glycerol to quinoline
ii1) Synthesis of furan-2,4-dicarboxylic acid from 2-pyrone-5-carboxylic
acid
C)Show by equations these reactions: (10 Marks)
1) Pyrrole with CHCls/ NaOH
11) Pyridine with perbenzoic acid
ii1) Furfural with alc. KCN
1v) Quinoline with each of HNO; and NaNH,

3-A) Design a synthesis of each of the molecules below starting with a -

ketoester e.g., ethyl acetoacetate: (15 Marks)
H3C CH3
I | AN
"W e o e | _
H s ®  H,e” ONT CH,
B) Write equations to show the reactions of : (12 Marks)
1) Furan with acetyl nitate

11) Thiophene with catalytic reduction using Raney nickel
1i1) Pyridine with phenyl lithium
1v) Salicylaldehyde with acetic anhydride and sodium acetate

GOOD LUCK
Prof. Dr. Ez Kandil, Dr. E. Boshra and Dr. E. Keshk
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Mansoura University f First Term
Faculty of Science { Third Zoology & Chem.
Chemistry Department Date : Jan. 2011

Time Allowed: 2 hours
Full Mark: 60 Marks

Subject: Chemistry
Course(s): Chemistry
(314)

Answer the Following Questions

Section _(A) (30 Marks )
ANSWER THE FOLLOWING QUESTIONS :

a) Briefly discuss the theory of visual use of metal ion indicators
b) Drive the pH curve during the titration of strong acid and weak
base.
¢) Prove that pH=pKa-+][salt]/[acid] for a buffer solution.
d) Compare between Mohr's ,Volhard's.
e) Analysis the simple mixtures by using EDTA
f) from the following weak acids ., which is the strongest ;
Propionic acid , Ka=1.34x10-4
Citric acid ,Ka=8.2x10-4
Acetic acid , Ka=1.78x10-5
g) Find the pH of acetic acid in solution, which made by mixing 25 ml
of 0.2 M HCI with 25 ml of 0,2 m sod.Acetate,(Ka =1,78 x 10-5)
h) The pH of a 0.025 M HI solution at 25 C is :
a)1.06 b)1.60 ¢)3.69 d) 4.12

Section (B) | (30 Marks)

1.a- 100 g sample of a pollutant was extracted into 100 ml] cyclohexane. If

its concn. = 10° M . What is the initial concentration in ppm or ppb
units?

b- If a pollutant concentration = 10~ M(100 ml) was extracted with 100
ml solvent. The remaining concentration =2.10° M . What are the No.
of extractions performed to achieve 99.2 % from initial concentration.

c- Describe the main methods of preparation and application of ion
exchangers. What is meant by separation factor and capacity?

d- What do you understand by:- (i) programm controlled gas
chromatography. ;
(‘ii) Effect of pH. ; (iii) Gel Chromatography. ;
(iv) Affinity chromatography.

e. Discuss and compare between two of the most sophisticated
techniques in chromatography.



Mansoura University Date: 12" January 2011
Faculty of Science Time: 2 hours
Chemistry Department Marks: 80

Final Exam in Inorganic Chemistry (Chem 323) for Third Year (Chemistry / Zoology)
Students

Answer the following questions:-

la) Draw all the possible isomers for the following complexes (15 marks)
i) [Cr(en),Cl,] iii) [Pt(NH;),Cl,]
ii) [Cu(H;0)4][PtCly]

1b) Write the coordination formulae of the following complexes: (15 marks)
i) Chloro bis-ethylene diamine nitrito cobalt(IIT)chloride

ii) p-dihydroxo bis-chloro triamine chromium(IIl) ion

iii) Hexamine chromium(III) hexacyano cobaltate(I1I)

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

2a) Complete the following equations & sentences:- (12 marks)

i) cestsoerssenan PR AN x coonssaninine are ambidentate ligands while ........,
........... and ................... are bidentate ligands. Please show their modes
of chelations.

i) MnO;+ HCL~> o snvasasonnonsasnonsoss

iii) TiO; + NaOH = ceevvveeeeereeennnns

iV) 2VCL = eeeeereeene. = S



2b) Explain TWO methods for the detection of complexes’ formation. (10 marks)

2c) Arrange the following according to the listed property (8 marks)

i) Reactivity: La, Sc, Y
ii) Size of atom: Ti, V, Sc
iii) Basic character: MnO, Mn,0,;, MnO,

iv) Magnetic properties: Ti**, Cr't, Sc**

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

3a) Comment on the following:- (10 marks)
i) Some transition metal ions and their complexes are used as catalysts

ii) FeO,” is strong oxidizing agent than MnO4*

3b) True and false ( circulate the correct response and correct the wrong one):-

(10

marks)
1)T - F [Co(NHs)]* is more stable than [Co(NH3)e]**

2) T - F Nimetal is not passive towards diluted acids.
3) T - F V,05is amphoteric.
4) T - F Feisrusty slow in water to form Fe(OH);.

5) T - F trans-[Pt(NH;3),Cl,] is optically inactive

All the best wishes

Prof. Magdy Bekheit
Prof. Gaber Abou Elreash
Prof. Nagwa Nawar

Prof. Sahar Mostafa
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Zoology Department
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First Term Exam, Jan. 2011
Education year: Third level Program: Chemistry / Zoology
Time: 2 hours Subject: Zoology
Date: 10/ 1/ 2011 Course: Embryology
Full Mark: 60
Answer all the following questions:
Q1) a- Answer using ONLY labeled diagram. (16) Marks
1- Developmental stages of neurula of tadpole. (3) marks
2- The development of inner ear of tadpole. (4) marks

3- Formation of the tubal heart of chick embryo 25-29 hours. (5) marks
b- Discus the role of hypoblast formation of the avian embryo. (4) marks

Q2) Choose the correct answer of the following: (24) Marks
1- The kidney of vertebrates is derived from ............. mesoderm.

a- intermediate b- chorda ¢c- paraxial
2- The second sign of gastrulation of toad is ........... at the blastopore.

a- invagination b- involution c- involution & epiboly

3- Mammalian embryos do not increase exponentially from 2- to 4- to 8-
cells stages, but frequently contain................

a- double number b- odd number c-notaorb
4- In non-amniotic vertebrates, the number of cranial nerves is .............

a- 14 pairs b- 12 pairs c- 10 pairs
5- During the formation of the eye of vertebrates, the lens arises from......

a- epidermal ectoderm b- neural ectoderm c- mesoderm
6- The parts of brain vertebrates are divided twice except ...... does not divide.

a- Prosencephalon b- Mesencephalon c- Rhombencephalon
7- The mammalian embryo proper comes entirely from ...............

a- epiblast b- hypoblast c- both of them
8- In birds, ..cnennsie forms portion of stalk linking the yolk mass to the
endodermal digestive tube.

a- embryonic endoderm b- primary endoderm  c- mesoderm
9- The major structural characteristic of ........... gastrulation is the
primitive streak.

a- avian b- avian & reptiles c- avian, reptiles & mammalians

10- Formation of trophectoderm is the first differentiation eventin ........
development.

a- avian b- reptiles c- mammalians
11- The first cells migrate deeply through Hensen's node are destined to
become the .........

a- endoderm b- endoderm of the fore gut c- mesoderm
12- The uterine cells that form the embryonic portion of the placenta is .......
a- chorion b- deciduas c- epiblast

CALATL ALY B
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13- Each cell of the inner cell mass of human embryo able to be.........

a- totipotent b- pluripotent c- multipotent
14-The epiblst cell layer is split by small clefts to separate .........

a- embryonic epiblast & amniotic ectoderm b- embryonic epiblast

& yolk sac c- embryonic epiblast & primitive streak
15- Primitive streak of birds is resemble to the amphibian .............

a- blastopore b- blastocoel c- neurocoel
16- The first heart beat of chick embryo starts at ............ hours.

a- 33 b- 29 c-25

Q3) a- Give the reason for each of the following: (8) marks

1- Closure of the foregut of chick embryo 20 hours.

2- In Chick embryo 48 hours, the mesencephalon is located at the
anterior cranial part.

3- The anterior part of the body of chick embryo 48 hours lies with its
left side on the yolk.

4- During Toad gastrulation, the pharyngeal endoderm is pushed to the
side of the blastopore.

o
i

Write short note by the aid of labeled diagram if possible:
(12) marks, (4) for each

1- Mammalian modification for development within another organisms.
2- General characters of chick embryo 24 hours incubation.
3- Role of trophoblast in mammalian development.

With My Best Wishes ..........c.cccuuen.e. Dr. Manal M. Ramadan
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Mansoura University
Faculty of Science
Zoology Department
Mansoura, Egypt
Subject: Zoology
Course (s): Physiology

January, 2011

3rd level: Chemistry/ Zoology
Date: 28/1/2011

Time: 2hrs

Full Mark: 60

Answer All the following Questions

I- Answer the following: (21 maiks)
a) Discuss 3 only of the following expressions: (9 marks)
[- Oxidative phosphorylation.
2- Transamination.
3- Glycogenolysis.
4- Glycolysis.
b)Give account on the physiological importance of 4 only: (12 marks)
1- Juxta glomerular apparatus.
2- Factors affecting filteration in glomerulus.
3- High levels of liver glycogen.
4- Proximal convulated tubule.
5- Hexose monophosphate shunt.
11- Explain in diagrams only: (9 marks)
I- The B-oxidation of fatty acids.
2- The fate of active acetate.
3- The blood supply of the kidney.
111-Choose the correct answer : (20 marks)
1- Specitic receptors of steroid hs. are:
a-inside target cells b- inside the nucleus c- outside target cells
2- Factors controlling aldosteron secretion are:
a- Na” & K levels b- Ca™™ level c- ACTH
3- Two hs. consisting of (191 AAs & 84 AAs) are called:
a- protein hs. b- peptide hs. c- amin acids-derived hs
4- The endocrine system is important for maintaining homeostasis
through releasing:

a- electrical signals b- chemical signals ¢- long signals
5- Addison's disease occurs when adrenal cortex is:

a- over active b- less active c- active

0- Angiotensinogen stimulates secretion of:

a- Aldosterone: b- angiotensin c- renin

7- The inactive form of h. called:

a- pro-hormone b- pre-hormone c- anti-hormone
8- An example of the hs. stimulated by another hs. are:

a- TSH b- ACTC c- STH

9- Exophthalnios means:
a- eye ball protrusion b- toxic goiter ¢- thyroid hyperfunction

)



10- Thyroxine increases:

a- metabolic rate b- ¢lucose absorption  ¢- glucose ingestion.
I I- Parathyroid h. secretion is cantroiled by:

a- nervous system b- anterior-pituitary c- hypotha'lamus
12- qubagen secretion is increased due to:

a- decrease in fatty acids b- increase in insulin

¢- decrease in glucose
13- Somatostatin increases secretion of:
a- growth h.  b- growth h. releasing h.  ¢- growth h. inhibiting h.
14- Tropic hs. control secretion of:

a- other hs. b- steroid hs. ¢- hypothalamic hs.
15- Excess production ot calcitonine causes:

a- dccre‘;ased parathyroid h. b- Ca’" increase c- Ca’" decrease
16- Anterior pituitary hs. are all peptide hs. except:

a- FSH| b- TSH c- GH
17- Testosterone 1s responsible for:

a- bone/growth b- testes development ¢- protein anabolism
I 8- The/most potent temale h. is:

a- estradiol b- estrone ¢- estriol

19- Type 2 diabetes occurs due to:

a- dccréased insulin level b- decreased insulin action

| ¢- insulin resistance
20- Pharmacological action of cortisol occurs when the h. produced by:
a- Large quantities b- les quantities c- normal quantities

1V- Complete (Five onlv) of the following: (10 marks)

1- Thyroglobulin is a substance that combine with ............... to form
2- Bone cellsinclude ............ e which are responsible
o) S T

3- Insulin secretion is high at period ........................

and low at periods .........................

4- Corticotropes secrete a large protein that is hydrolyzed to form

5- Diabetes insipidus is similar to diabetes mellitus in
|e ~ . ..

6- Secretion of ...... B R T in large quantities

decrease? tissues sensitivity to insulin , which can lead to

Best Wishes

Prof. Dr. Wafaa El-Koly Prof. Dr. Azza EI-Wakf
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Answer the following questions
Q1: (25 marks)
A random sample of size 36 is taken from a population with mean x and variance

O-z and tabled as :

Classes 2~ 4 |4— 6 |[6—8 |[8—10|10=—12
frequency 6 7 10 7 6
(a) Find the median ( M ), the mode ( D ) and standard deviation ( S) (15 marks)

(b) Compute a 95 % confidence interval for the mean x . (10 marks)

Q2: (25 marks)

-3x
(a) Let X be a random variable has density function f(x)= {ae = g &eo
0

otherwise

Find (i) The value of ¢ (ii)) p(X=3) and p( X <3) (ii1) E (X) and V(X) .
(b) A fair coin is tossed 10 times. Let X be the number of heads which appear .
Find p(X=4) and p(X<4). (10 marks)

03: ( 30 marks)
(a) Let X be a random variable having values 1,3 ,5,7,9,11 and Y another
random variable having values 2,4, 6,8, 10 , 12. Compare between the dispersion

of the values X and the dispersion of the values Y. (10 marks)
(b) A random sample of size 49 is taken from a normal population with mean 12 and
variance 36.Find p(X=>14). ( 10 marks )

(¢) A random sample has elements 8.5,11.5, 95,105, 8 ,9,11,10,12 is
taken from a normal population N(u,c*) with unknown mean and unknown

variance. Find 95% confidence interval for u. (10 marks )
Note that : p (Z <2.34)=0.99 p(Z2>234)=0.01 pl Z<13)=40.93
Z0.0ZS = 1 96 2 Z0.0S = 2’58 t( 0.025,8) = 23 J t( 0.05,8) = 335 t( 0.025,9) = 226

(sl S ¢ Olang ebaS | Dy ebaS c Bnagle ¢ (g bl gali ) * el 2
( s dane 3 & Qe dbe D¢ Audlldy a3 pubidgane 3 ) ) Qu il Bl Gliad as
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Mansoura University Date: 24-Jan-2010
Faculty of Science Time: 2 hours
Department of Zoology Full mark: (100)

2010/2011 First Semester Exam of (Ecology & Egyptian fauna)
Level 3- Chemistry/Zoology program

Answer (All) the following Questions.

1- Write short notes on two only:

a.
b.

Factors affecting flora & fauna decomposition.
Behavioral adaptation characteristics of the Egyptian animals that live in desert (with
examples).
Allen and Bergmann roles for animal environmental adaptation
(25 marks).

2- Give the appropriate terminology of the following statements:

e

T @ oo

The web or network of relations among organisms at different scales of organization

Is the scientific study of the distributions, abundance and relations of organisms and their
interactions with the environment.

The ability of a plant or animal species to live and reproduce in its surroundings.

The explanation of size change based on theoretical considerations of surface to volume
ratio.

Group of animals that gain their body heat from outside (various body temperature)
The ability of organism to compensate for external change in the laboratory.

Physical+ Chemical+ Biotic factors

The specific interrelation of the intermediate organism responses (tightly) to the physical
factors.

It was related to the richness of a community or geographical area in species and
corresponded to the number of species present in a definite area.

The only sound currency in the economics of ecosystem function biomass & numbers.

b. In most ecosystems nitrogen is primarily stored in living and dead organic matter. This organic

nitrogen is converted into inorganic forms when it re-enters the biogeochemical cycle via
decomposition. In the light of this statement diagram the processes of N cycling from inorganic

form to organic form through the ecosystem?

(25 marks).

3- a. By drawing only illustrate:

1- the partitioning of energy in a link of the food chain & the energetic efficiencies
associated with each metabolic step through the organism.
2- Detritus food chain and its importance in the biosphere.

b. Compare with examples between Megafauna and Microfauna.

(25 marks).

follow up the rest of questions... !! AL, ALY B Jas]



4- a. in an experimental approach discuss the ecological differentiation in subspecies of the

savannah sparrow that are restricted to salt marshes and the migratory races, that not

ordinary frequent areas of salt water.

b. . Ecology — interpreting data

Adaptation to temperature

Identify the:

18
15 §..

12§ Lo
observations
-

s
3

14 16 18 20 22 24 26 28 30 32 34 386

selected temperature

Trozen Morras, 1953

(25 marks).

Good luck

Dr. Zeinab Abou-Elnaga
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Mansoura University

Faculty of Science o sl A4l
Botany Department Sl b
El-Mansoura, Egypt pan - b geaiall
Final Kxamination in Botany
First Term: Jan: 2011

Educational Year: Third Ycar - Program (Branch): Botany/Chemistry
Subject: N 313 -~ Course(s): Molecular Biology-Microbial Gentics
_Time: 2 hrs.  Date: 08 /01 /2010 Full mark: 60.0 _- Question mark: 20.0 i

_Answer the following questions: "
1  Q-1- A- Assume that have the following coding sequence:
‘ 5= st TG GOC TGG ACT TCA GTT...03 Sense strand
3-....TAC CGG ACC TGA AGT CAA....-5  Antisense strand
With the help of the provided genctic codon table, summarize the steps that lead
to the synthesis of the polypeptide chain which cncoded by that scquence.
(10marks)
b- Compare between DNA p‘(—)lvmcrusc I and 1. (10 marks).

2 Q-2- A- C()mplete the following (10 marks):

1- A single tRNA can recognize two or more of ------- codons and this
phenomenon is known as -

2- The conditions favoring I)N/\ dumlumtmn include------ R and -------

3- Replication bubble has two -------. moving in opposite dircction. IlLllLdSC

with the help of ------- keeps the parental DNA molecule unwinded.

4- The genetic codon runs in a ——---- dircction on mRNA and the anticodon

runs in g --------- dircction.

5- The modification of mRNA in casc of -------- include the addition of -------

to 5' end and to ------- to 3" end. Also include splicing the ---------- by--- --

6- The different forms of RNA are mRNA, IRNA, --------- cand --------- :

7- In the double helix molecule. the --------- are stacked on the inside and the

———————— is on the outside.

8- The lagging strand ibpllmlu in several small --—---- called ---=------ .
Q-2-B- Plasmids vary in ----—- - and lellLdlL —————— from the genomic
chromosome. Often lhcrc e -------=-copics present inoone cell. Plasmids
generally carry genes that arc -------- - fora cell's survival except under ==-==ne--- :
For example, many plasmids carry genes for antibiotics. these plasmid cnable the
host cell becomes --------- 10 a given ---------- . Some plasmids carry resistance

genes to several antibiotics, making them very dangerous pathogens. In other
cases virulence-plasmids do exist in some bacteria, the bacterium carrying such a

plasmid is abl¢ to causc a ------- but when the plasmid is - that same
bacterium became avirulent. A p!dsnnd name consisted ol mmaee | cmmeeeen ,and ---
________ Or - 0 o e e

3  Q-3- Answer the following questions as indicated in the heading of each one.
1. Which of the following is mismatched? (2 mark)

A. Pilus --- bacterial conjugation B. I'lagellum --- bacterial
conjugation

C. Plasmid --- bacterial Transtormation . Transduction --- tcmperate
phage

2. Making new copies of DNA from old copies of DNA is Known as (2 mark):
A. Transcription B. Transiormation (". Replication

D. Translation I2. Transduction

3. Genetic variation results from (2 marks):

Examiners: Prof. Dr. Yelia A. O. Ellazeik Dr. Linda Zakharie Samaan
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Final Examination in Botany
First Term: Jan. 2011 -
a- Transduction  b- mutation  ¢c-conjugation  d- transformation  ¢- none of
them '
4. In the Griffith experiment, the substance present in the suspension of
heat-killed virulent cells of Streptococcus pneumoniae that, when mixed with
living non virulent cells, transformed them into living virulent cells was (2

marks)
A. DNA B. capsular material from the virulent cells
C. mouse phagoceytes D. RNA [.. Spn (0xin

5. Two strains of Sa/monelia are mixed, onc which is arg-. his -, cob- dl‘ld CMr,

and the other which is cob-, thi-, and CMs. In order to determine 11 genetic

recombination takes place between thesc organisms which medium would you

plate the mixture of cells on in order to detect the recombinants? arg = arginine,

cob = cobalamin (vit B12) his - histidine. thi  thiamin (vit B1) and CM =

chloramphenicol (r - resistant; s sensitive) (2 marks) ,

A. Glucose minimal medium plus cob. arg  B. glucose minimal medium plus

cob, thi

C. glucose minimal medium plus cob. his  D.glucose minimal medium plus cob.

CM

E. glucose minimal medium plus his, thi. CM

6. During the process of generalized transduction (2 marks)

A. a bacteriophage capsid can enclose and transfer any part (gene) of the
bacterial chromosome.

B. the recipient must be susccpliblc to infcetion by the same bacteriophage as
the donor.

C. the transfer of DNA is inhibited in the presence of DNAase

D. cell to cell contact is required 1. two of the above
7. In bacterial genetics the term competence refers 1o a bacterium with (2
marks) A. ability to be transformed

B. the F factor integrated into its chromosomal DNA
C. susceptibility to lytic infection by bacteriophage
D. susceptibility to lysogenic infection by bacteriophage
E. ability to act as a DNA donor during transformation
8- The most common form of conjugation involves the transfer of plasmids
from one cell to another, which statement(s) is true (2 marks).
a- This process is very efficient. as the recipient cells literally change SEX and
quickly begin to mate with I cells.
b- Certain I plasmids arc able (o fuse with the genomic DNA of the host and
upon mating the entire donor's genome can be transferred into a recipient cell.
c- The sex plasmid genes are responsible for the synthesis of sex pili that have
"sticky" ends that bind firmly to molecules on recipient cell walls.
9- Silent mutation resulted from (2 marks): ‘
a- base change leading to no change of the amino acid scquence of the
translated protein
b- One or more base pairs arc inserted or deleted in the DNA
c- a single base pair is replaced by another and hdw no cffect on phenotype.
d- a change in the reading of codons.

Examiners: I’rof Dr. Yehia A. O. Ellazeik Dr. Linda Zakharie Samaan
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10- Sickle cell disease in humans is due to (2 marks):
a- a missense mutation in the gene for globin.
b- alteration in the shapc of red blood cells which affect their movement
through blood capiliarics.

¢- FFrameshift mutation

d- nondense mutation

Secood letter

Examiners:  Prof. Dr. Yehia A. O. Ellazeik

Dr. Linda Zaokharie Samaan
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